
Review Packet for Exam #2-Second Part

Math 12-f). Benedetto

Series: Find the sum for each of the following series (all of which converge):
:2 (2

-

1 1

n=O

-
-

I

1 1 \fl+lflfll (2
98 V’t’}

/ 3n+1 - —

flI
.

3n+2 Z_—
—

(2.

(

10(1 - —

—





106.
n 1

I

More Series: Determine whether each of the following series converge or diverge. Name
any comivergence test(s) you use. and justify that it’s legal to use them:
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Even More Series: Determine whether each of the following series converges absolutely.
converges conditionally, or diverges. Justify your answers.
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